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10.

11.

Instructions

_Answer all questions.

All questions carry equal marks.

In this booklet, the questions from
serial no. 1 to serial no. 10 are related
to general aptifude while gquestions
from serial no. 11 to serial no. 70 are
subject specific.

Each question has four alternatives

. marked as (a), (b), (¢), (d).

Choose only one alternative as an
answer of a question.

If more than one answer is marked,
then it will be treated as wrong
answer.

Candidate has to darken only one circle

indicating the correct answer on the

answer sheet by using BLUE BALL
POINT PEN.

There is no provision of Negative
marking.

Carrying Mobile phone in the
examination hall is strictly prohibited.
If any objectionable material is also
found then action will be taken as per
University norms.

Please fill your Roll No. and other
information carefully on QMR sheet.
In case of any mistake on OMR sheet,
candidate will be responsible.

If there is any difference between
English and Hindi version of questions,
then English version shall be correct.

N .

10.

11.

o

st vl & s
i S dswam €

T WY g § FHE 1§ FHE 10 TF
% v wie sifigiy @ aa #whiE 11 R
AT 70 9% % A favg Sigm ¥
TF W B 9r dafeaw s E g wh:
(1), (F), (8, () A fFmafermmy
FE GIH FT A O [qwed W v H

!

T ¥ Aftrs 30 3 &1 o ¥ wv =1 T
| B AT | _

Y] ) T IW TG PAS T WA
mtgmmﬁéﬁawrszﬁaﬁm
HENEY |

TS 3 ToH F F FE EuE
e

- HiaEa B %1 vhen g § am qoiam g

¥ 1 a @ = Wt o afdfa i fes W
faratarnea & fraarar wdard 2 |
el ot qe =R wE I wHeRE!
... e W aEgt @ sy
shgr.am. e W ot gfe 3 W 3aw
o gifam sl s 8 )

i g & fed s STt wurol &
R ol YR 1 R A S, 9 e
FUFS R W A |




. Space for Rough Work
wed w9 o forg A

09-ABST 2




Fill in blank in the given sentence
so as to make sense. Select the

correct word from the answer

choices.

Every teachef and every stﬁdent
should do.................. duty.

(a) their
(b) ones
(© | his

(d) none of the above

A word has been written in four
different ways out of which only one
is correctly spelt. Find the correctly

spelt word : )

(a) Aproached
(b) Apraoched
(¢) Appraoched

(d) Approached.
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Out of the four alternatives, choose
the one which best expresses the

meaning .of the given word :
DEAR : |

| (a) Duer

) Close

| (¢ Costly |

(d) Young

Sita is the avatar of which spouse
of Vishnu ? -

{(a) Krishna
(b) Lakshmi
(¢) Durga
(d) Kali

Wankhede Stadium is situated in
(India) :

(a) Chennai
(b) Delhi
(¢) Chandigarh

{d) Mumbai
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Who was known as Iron man of

India ?

(a) Go-vind Ballabh Pant

() Jawaharlal Nehru

(¢) Subhas bhandra Bose
(d) Sardar Vallabhbhai Patel

A man earns Rs. 4,000 in a month
and saves 30% of his income. What

is his expenditure in a year ?
(a) Rs. 28,600

(b) Rs. 18,400

(¢) Rs. 32,000

(d) None of the above

1205 x 54 + .06 = ?

(a) 108.45

(b) 180.45

(c) i08.54

(d) 180.54
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10.

11.

Complete the series from the given

alternatives :

1,2, 3,6,9, 18, , 54.
(a) 18
b 27
(c) 26
@ 81

Four words have been given, out of
whiqh three are alike in some
manner and the fourt_h one is

different. Choose out the odd one :
(@) Carrot |
(b) Potato

(c) Ginger

(d) Cabbage

Accounting principles are generally

based on :

(a) Objectivity

(b) Subjectivity

(¢} Convenience in recording

(d) None of the above
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12,

13.

14.

09-ABST

The system of recording transactions
based on dual aspect is called :

(a) Double Account System
(b) Double Entry System
(c) Cash System

(d) Single Entry System

How many accounting standards
have been issued upto 31st March,
2012 by the Institute of Chartered
Accountants of India ?

(a) 29
(b) 30
{c) 31

- (d) 32

If closing stock is Rs. 1,06,800, cost
of goods -sold Rs. 1,50,000, gross
profit Rs. 10,000 and I;urchases
Rs. 1,64,000, then what will be the

amount of opening stock ?
() Rs. 92,800

(b) Rs. 82,800

() Rs. 1,20,800

(d) Rs. 1,10,800.
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(31) 29
(%) 30
(®) 31
Q) 32

Ay sfed = 106,800 T., 3 T
e # A 1,50,000 ¥., WHA Y
10,000 & TH HF 1,64000 5 B, @
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(31) 92,800 %
(%) 82,800 %
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15. Goodwill is : 15. &g ¥ .

(a) Wasting asset ' () TRE B A wela
(b} Current asset (%) 9 Wl

() Pictitious asset | (a) P wnf

(d) Intangible asset (%) sd A

16. Uncalled amount of shares which

16. vl W smfan uf il daa R
can be called only at the time of

& FAH T /W S w8, HEart
company’s liquidation is called : s
(a) Paid up capital i '{Eﬁ
(b) Called up capital

| (F) =faa g

(¢) Authorized capital

(®) sfepa ot
(d) Reserve capital

(%) Wi gt

17. Share capital account is debited in

the forfeited entry : 17. ' wafe & o I e 3

(a) With the calls in arrear fran wmn ¥
"~ {b) With the uncalled amount on (1) mtn ufw @
shares _ & _ '
() With the paid up amount on (¥) &Fdl W= rfan of §
shares (W) sl W wew ofewr ¥
(d) With the called up amount on :
shares (g) ol w ufsa ufn @
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18. Deb

enture premium cannot be

used to :

(a)

(b)

()
(d)

Write off the premium on
redemption of shares or

debentures

Write off the discount on issue

of shares or debentures
Pay dividends

Write of capital loss

19. Standard Deviation is affected by :

- {a)
(b)
(@ |
(d)

Change of Scale
Change of origin
Both of the above

None of the above

20. Capital redemption reserve can be

created by using :

(a)
(b)
(c)

(d)
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General reserve
Capital reserve
Securities premium

Profit on reissue of forfeited

shares
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21,

22.

23.

)

Which of the following can be
utilized for redemption of preference

shares ?

"~ (a)

equity shares
(b)

The proceeds of issue of
debentures

The
investments

(d) All of the above

(c) sale proceeds of

Number of rooms in a house is a :
(a) discrete variable

(b) continucus variable

(c) constant

(d) all of the above

For a . skewed

Moderately
distribution, which of the following

relationship holds ?
(a)

Mean ~ Mode = 3 (Mean -
Median)

3 (Mean -

Median — Mode =
Median)

(¢} Mean — Median = 3 (Mean -
Made)

(d) Mean — Median = 3 (Median —

Mode)
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24, Given the following grouped | 24. fr=fafen wofea smafe wwoft # #e

frequency table, the median class . T ¥ .
interval is : ‘ : . S .
‘ £t frnfifal =t den
Marks No. of Students ' N
0-10 1
0-10 1
10-20 3
1020 3
. _ 20-30 3
20-30 3
‘ 30-40 13
30-40 13 ‘ : |
4050 5 0-50 5
25 %
(a) 0-10 () 0-10
(b) 10-20 (€) 10-20
() 20-30 (¥|) 20-30
() 30-40 | (%) 3040

25. Range of middle 50 per cent can be | 95w $ 50 whiew faemrr =1 TorT -

calculated by : T uFd ¥ .
@ Q- & (1) Qg ~ Q
(b) Pyz — P '

~ (c) Both of the above

(W) sogdwa F
(%) Iwgdwa & § # &

{(d) None of the above

09-ABST ‘ 11



" 26. Which of the following are not | 26. fim # ¥ ¥Feh ¥ M sfufrm,

allowable under seption 37 of the LT. 1961 91 R 37 & ST=na W
Act, 1961 ? | J ¥ 2 | '
(a) Capital Expenditure .
(b) Personal expendii;“ure (a)w =
: . () =faa @b
(¢) Advertisement in souvenir of a :
political party | | _('Ff)ﬁﬂﬁ e <@ @t w8
(d) All of the above \ - T
‘27. This is a relative measure of (®) svgF af
dispersion : 27. W& SfEn H WG T Y
(a) Mean Deviation ' SN —
(b) Standard Deviation
(c) Semi-intef Quartile Rlange () s W
(d) -Coefficient of Quartile Deviation (®) sg-a Igdw fawm
28. The characteristics of an absolute (]) =gd® fa=em W

measure include :

28. g o +t fmastt § winfem

(a) Uncomparable with the unit of

~ measurement ¥ _
(b) Comparable with the unit of .(31‘) FEST AW [T W R GE
" measurement |

(/) gerg ad W9 W gEE 9fed
] (@) goha v A # swE
(T) AFHNE AW 9 FY THER e

* (¢} Comparable without the unit of

measurement

(d) Uncomparable without the unit

of measurement

~ 09-ABST 12




29.

30.

31.

This is not one of the measurement

of dispersion :

(a) Mean Deviation

(b) Range
(¢) Coefficient of Variance
(d) Coefficient of Skeweness

The correlation between price and

demand would be :
(a) Zero

(b) Positive

(c) Negative

(d) None of the above

Two regression lines are identical if

r is equal to :
(a) +1
b -1
() =1

d 0 -

09-ABST
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32.

33.

- ®)

Hari sold a property on 15-03-2011 -

for Rs. 10,00,000. The property was
received by him as gift from his
grandmother on his birthday on
2-03-2010. The property was
purchased by his grandmother on

15-04-2005 for Rs.-5,00,000, if the

cost inflation index for the F.Y. 2005-
2006 to 2011-12 were respectively
497, 519, 551, 582, 632, 711 and 785
respectively the capital gains for the
assessment year 2008-09 will be :
(a) Rs. 5,00,000 '

(b} Rs. 4,45,674

(¢) Rs. 4,69,171

(d) Rs. 4,71,869

The block of" assets in respect of claim

of depreciation means :

(a) Assets having same cost of

acquisition

Assets having same prescribed
rate of depreciation

(c) Assets kept in the same block
of factory building

(d) Assets of an undertaking
engaged in generation and

distribution of power

09-ABST
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33.

15-03-2011 % &R Y TR Y 10,00,000
T A 991 3] 98 ¥l 2-03-2010 F
TIRA W W A § IWR F T
¥ sma & o1 15-04-2005 F T% W
o1 TR BRI 5,00,000 . H Tl W
4t g &g o6 2005-2006 ¥ 2011-12
% forg ea gusi® w497, 519,

551,582, 632, 711 qN 785 1, A Freiewr

g 2008-09 & foag ISt e o .
(%)5,00,000 5.
(¥) 4,45,674 %.

(¥) 4,69,171 %

(T) 4,71,869 =.

w9 % T ® wem F W § W
3 ol ¥

() THearE AfyfEia ara =t gt

() W & fo Frifes = = ameh

(|) HEM 999 ® TF & <06 § @

w8 weafat
(%) Foepq & Serd e faor ¥ @
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35.

Which of these incomes is added to

total income for determining only
the rate of taxation but the income

itself is exempt from t;axation ?
(a) Long Term Capita_l' Gain
(b) Dividend

(c) Share of partner from firm
(d) Agriculture Income

A Tea Estate owner grows tea leaves

in his garden and processes these

tea leaves in a tea manufacturing |

unit in the same Tea Estate and
finally sells the maﬁufactured tea in
the market and earns a net profit

of Rs. 10 lakh. The taxable business

- profit of the Tea Estate owner is :

(a) Nil

(b) Rs. 10 lakh °

©) Rs. 4 lakh

(d) Rs. 6 lakh

09-ABST
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36.

37.

{(a)

The base year of the Cost Inflation
Index is :

(a) F.Y. 1979-80

(b) F.Y. 1980-81
) F.Y. 1981-82

(d) F.Y. 1982-83

The cost of bonus shares for the -

purpose of calculation of capital gain
for the ALY, 2012-13 will be taken

at :

The average cost price of the

_original shares purchased
(b)

on the date of allotment of

bonus share

(c) The cost price of the bonu_s

share will be taken as nil -

(d)
“share will be taken at 50% of

~ the market price of the shares
on the date of allotment of

bonus. shares

09-ABST
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38.

39.

{©

After TDS is deducted, the

government deductor should deposit

the tax under Rule 7307 Within :
(a) One month

(b) 31st of March

(c) One ‘week

@) Same day

For Assessment Year 2012-13, the

aggregate amount of deduction u/s

80C, 80CCC and 80CCD should not

exceed :

(a) Rs. 1,00,000
{b) Rs. 1,650,000
Rs. 1,20,000

(d) Rs. 70,000

09-ABST
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39.

fram 30 & sl e FEA @ AR
T §EH Hadien & fF BGH &

ﬁmmmmm ?
()T T
(F) 31 W™
(H)WW
(%) =& f@

frafor g9 2012-13 & fam wmg 8o,
sodtdRdt g sowiHiE & ila vwfew
ofn = ¥ afess R arfeg .

(%) 1,00,000 %
(a) 1,50,000 %.
(¥) 1,20,000 .

(%) 70,000 <.



40. What will be material turnover ratio | 40. Fr=1 JF7e % MR Wl o

from the following information ? I = e ?

_ (#) Opening Stock Rs. 25,000 | () TRF &Y 25,000 =.
@) Closing Stock  Rs. 15,000 @) S 15,000 %.
(fif) Purchases Rs. 1,90,000 (i11) 31'?-'{ 1,90,000 %. -
(a) . 7 times (H) 7 7
(b) 10 times o () 10 T
(¢) 12 times : (|) 12 W
(d) 15 times . | ‘ (T) 15 T

41. Long-term capital gain is taxable 41. Adwwia St T F-dmg ¥

at :
() 30%
(a) 30%
(9) 20%
(b) 20%
‘ (9) 16%
(¢ 15%
(3) =

(d) Nil

09-ABST . 18



42. Overhead at two level of production

are as under :

Total Overhesd Volume of Production |

(Rs.) (Units)
12,200 900
15,400 1,300

What will be total fixed overhead ?
(a) Rs. 8,000

(b) Rs. 8 per unit

(¢ Rs. 5,000

(d) None of ‘the above

43. Valuation of “Uncertified Work” is

done under contract costing :

(a) On the basis of cost of material
(b) On the basis of éontract -pfice
(¢ On the basis of cost

(d) None of the above

09-ABST
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(¥.) (I
12,200 500
15,400 1,300

@ﬁmw@wﬁﬁ ?
(37) 8,000 %.
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44.

45.

- 09-ABST

If prime cost is Rs. 25,000, works ;m;
is Rs. 40,000 and office overheads
are 664 % of the factory overheads,
then‘ what would be the cost of

production ?

(a) Rs. 50,000

() Rs. 60,000

(© Rs. 65,000
(d Rs. 80,000

Contract Price of an incomplete

.contract is Rs. 1,560,000; Certified

work is Rs. 1,20,000 and Notional

Profit is Rs. 45,000. 80% of the

certified work has been received in-
cash. In this situation what will be
the amount of profit which is to be

credited to Profit and Loss a/c ?

(a) Rs. 18,500
(b) Rs. 21,000
(© Rs. 24,000

(d) Rs. 39,450

20

44, fE W@ WF@ 25,000 . ¥ AU HLEA

S 40,000 5. & 3iR Frie SR
FHREF 3UNeTd 1 662 % ¥, o g
orT Fm e 2

{(31) 50,000 %.

(%) 60,000 .

(¥) 65,000 %.

(T) 80,000 ©.

. T AYU I F IH Y 1,50,000 T.

& wifor & 1,20,000 & o e -
m4s,ooos.%aikwﬁrama;r
SO%WW'QW%:WM:‘#
m—mﬁwﬂﬁ%@zmaﬁw

oY R ?
(1) 18,500 <.
(%) 21,000 *.
-(v)24,000 %.

(]) 39,450 %.



46.

47.

If the current assets and current
liabilities are Rs. '2,000 lakh and
Rs. 1,200 lakh respectively, how
much amount can be borrowed on
shprt—term basis Witllmut reducing

current ratio bglow 15 ?

(a) Rs. 400 lakhv |

(® Rs. 1,000 lakh

() Rs. 1,200 lakh

(d Rs. 1,400 lakh

Special auaitor submits _his report
to : |

(a) Shareholders

(b) Directors

- {e) Central Government

(d) Court

09-ABST
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2,000 €@ ¥. Td 1,200 G ¥. ¥, oY
W%ﬁqmmﬁmmm
¥ foed = SR 1.5 ¥ FW W
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(5)400 T T

(/) 1,000 & A %.

() 1,200 9@ %

(¥) 1,400 TG %
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48.

49.

50.

A shareholder can claim the amount
of unpaid dividend within which

period ?

(a) One month
(b). Six months
(¢) Two years
(d) Seven yeafs

Secret Reserve is not considered
illegal if it is created by writing off

the :

(a) Goodwill

(b) Preliminary expenses

(c) Bad debts .

(d) None of the above

The term 2/10 net 30 is used in :
(a) Inventory management

(b) Receivables management

. (¢) Cash management

(d) Payable management

09—ABST
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Ea

81.

- B2.

Annual use of an item by a
refrigerator manufacturer is 1,600
units. The order placing cost is Rs.
106 and the cost of carrying one umt

for an year is Rs. 8. What will be

economic ordering quantity ?
(a) 100 units
(b) 150 units
() 200 units

(d) 300 units

If the price of material is showing
increasing trend, then which out of
the‘ followiﬁg methods of valuing
stock will give the lowest gross
profit ?

(a) LIFO

(b) Replacement Cost

(¢ FIFO

(d) Simple Average
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52,

w Wrm ffan g et sg W
aftie ST 1600 T W &1 SR
2 S A 100 T ¥ a1 T 98 9%
TH TR @ F A 8 % ¥ fageadt
ARY WA FTW AWM 2

(a:r) 100 gerEal
() 150_3&13111’
(W) 200 zwEEl

(%) 300 Al
R Tl w1 P a9 g @ e
# } qrl e A P @

- OFE WY TS W IR ?

() LIFO

(/) Replacement Cost
(¥) FIFO

(%) Simple Average



53. The standard time for a job is 20

55.

hours @ Rs. 10 per hour. The job
was actually finished within 15
hours. ' What Wil'l be total
remuneration under Halsey Bonus
System ?

(a) Rs. 200

(b) Rs. 190

(c) Rs. 180 .

(d) Rs. 175

AS-3 is related to :

(a) Fund flow statemeht

(b) Statement of affairs

. (e} Cash flow statement

(d) None of the above

A company can buy back of shares
from :

(a) Free reserves

(b} Security premium

(e I

Proceeds of shares issued

(d} All of the above
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53.

54.

55.

o S % FIT yEIY ¥ 10 T Wi

W W 20 T2 ¥ T

F 156 w2 H @ @ W fam o
e S A R SO B TR
¥ OBEW ?

(37) 200 %.

(9) 190 =.

(%) 180 .

(%) 175 &

TUg-3 et ¥ e

(:ﬂ)ﬁﬂ warE feEm

() R & wmf B faw

() 7% vaE faarn

@ v A

TF FHAT HE T AR THE F A
g

(1) @&ds we ¥

(¥) uﬁa{ﬁru’iﬁmﬁ

(W) oivit & P & wa
(3) vwfsa wet @



56.

57.

58.

Fixed expenses is Rs. 90,000, sales
is Rs. 3,00,000 and profit is Rs.
60,000.. What would be the P/V
Ratio 7 |

(a) 40%

(b) 45%

() 50%

d) 60%

Who appoints the internal auditor 7

(a) Management
(b) Shareholders
(¢) Directors

(d) Central Gavernment

1If standard and actual price of raw

material per unit is Rs. 4 and
Rs. 6 respectively and standard and
actual quantity of i'nput is 100 and
110 respectively, then what will be

material price variance ?
(a) Rs. 220 (F)

(b) Rs. 200 (F)

(¢) Rs. 200 (A)

(d) Rs. 220 (A)
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56.

57.

58.

fer == 90,000 ., fo67 3,00,000 3.

- @M TN 60,000 F. §| TH-TEN U

W ?
(1) 40%

() 45%

(9) 50%

(%) 60%
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(31) g

(@) simendt

(W) Fevw

(T) T TR _

o wfa v SERll S99 9eY
IRAIh YT HHI: 4% W 6 T
g1 wrft w ywifa o8 arafas W
WY 100 W 110 |, & i g
oo w0 9w 2

()220 & (TH)

(") 200 3. (%)
(|) 200 % ()

(Z) 220 & (W)



59.

60‘

61.

09-ABST

A hotel has 100 rooms, of which 80%
are normally occupied in summers

and 25% in winters. If period of

summers and winters is taken as 6 °

months each and norinal days in a
month be assuméd to be 30, then
what will be the total occupied room
days ? |

(a) 17,600 room days

(b) 18,900 room days

(¢ 19,800 room days

(d) 16,700 room days

Balance sheet audit includes.

verification of :

(a) All assets |

(®) All lisbilities

(c) Income and expenditurerAlc
(d) All of the above

When the Indian Institute of
Chartered
established ?
(a) Year 1949
(b) Year 1950
(¢} Year 1951
(d) Year 1948

Accountant was
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59.

60.

61.

TF s 7 100 FR §, forrt § e
T # 80% v Waww { 25% FR
W & Rk ol R wd o w
6~6 g W1 A A1 1 WE § 30 fa
A W @ W gy FR fawt w5
Wem & v ?

(31) 17,600 F90 _fEaw

() 18,900 F70 Raw

(¥) 19,800 %5y =

(T) 16,700 =90 fGaqg

fager sidam § wenfm feat s
T

(o) W et

(9) e i

(¥) 35 qa =g '@'EIT _

(%) 3ugsa wsft

YA e UHISUIZ URAM S T
FEER !

() =d 1949

(@) 7 1950

(@) &9 1951

(%) 99 1948



62.

63.

64.

For what minimum period should
audit working papers be retained by

~ audit firm ?

For the period client is in

(a)

existence
(b)
(c)

For a period of ten years
For a period, auditor opines that
it may be useful

(d) For .the period the audit firm is
in. existence

The Auditor of a Government
company is appointed by the C and
A.G., his remuneration is fixed by :
(a)
(b)

(©)

The C.A.G.

The shareholders
Shareholders in annual general
meeting |

(d The Board of Directors
Debt equity ratio is a :
(a) Liquidity ratio |

(b) Solvency ratio

(© Proﬁtability ratio

(d) Turnover ratio
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63.

64.
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65. Du Point chart is related' to : | 65. ¥ e 9r dafud ¥

(a) Fund flow statement (M FY FER fam |
() Ratio analysis () STom ﬁﬁ?ﬁ"‘
(¢) Trend analysis | : (W) wafa favao
(d) Common size statement (%) QAR foaor

66. The retiring auditor does not have | gg. g !ilTl?l FADgF N AfHR T

a right to :
¥ -~

(a) Make written representation , .
(31) fofam & R =g 6 =1

(b) Get his representation

circulated A @ o e @ vt @ W
{¢) Be heard at the proceedings of ' '

meeting (W) wifdn =i Tﬂ?fiﬂé’r TH #Hl
(d) Speak as a member of the @) FINH A CIAD EG G aﬂaﬁ-w
company

67. CA.G #fufrw, 1971 & SHER 9Ra

 67. As per C and A.G. Act, 1971 the . |
' ' % fas @ R wWes 5

tenure of the Comptroller and

Auditor General of India is : . : W LU
ta) Four years . ()R T4
(b) Five years ' (@ e
(¢) Six years | ' (?) B: 9
- (d) Seven years . (2) WA a9
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68.

69.

70.

The statutory auditor of a

(Government company submits his

‘report to :

(a} The Board of Directors of the
company

(b) The C and A.G.

{c}

(d)

The legislature
The company secretary

The company auditor submits his
report to : |
(a) Shareholders of the company
(b) Board of Directors of the
© company

{c) Secr‘efary of the company
(d)

Time value of the money is not
considered in the following capital

budgeting technique :
(a)
(b)

Average rate of return method
Net present value method

(¢) Discounted pay baék period

method

Terminal value method

(d)

09-ABST
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69.

70.
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 Space for Rough Work
&= a1 & fau
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